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Directions .' Answer the following questions by
selecting the correct option,

1. Developmentisa/an

(A) erratic

(B) discontinuous

(C) continuous

process.

(D) None of the above

Dyslexia is associated mainly with
difficulties in

(A) speaking

(B) hearing

(C) reading

(D) None of the above

A student's chronological age is 10 years

and mental age is 12 years. His IQ will be

(A) 80

(B) 100

(c) r30

(D) None of the obove

Hatred is produced out of

(A) anger

(B) fear

(C) depression

(D) None of the above

2.
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PART-I / VI{-I
CHILD DEYELOPMENT AND PEDAGOGY /fu fr-f T g ft66l?Tfr

1.

ffitqt, qfro fgrffi{$r<frrD< er$sfrf,
Ss? qte 

t

R-rH EE ..4sF

(A) \rffis
(B) R&{
(c) qRk{

qfum 
r

(D) €"fcr-< C$F& q{

2. e'rynfret TqEa q&E qrflr{
)Tlccl 

I

(A) scftiK

(B) qTCq<

(c) "trra<
(D) S"nr< mttreQ m
q<rq-{ qfq-< qt{K6i<Tpt qE ) o <W q<(

E.lr ${fr-s <TPr qfl ) a, <K t EK {6,6
(IQ) E(<

(A) vo

(B) ) oo

(C) )rlo

(D) ,Bqz<< csHfr q{

Ttt €q"H q{ _ Cqro I

(A) <lrt

(B) g{

(c) wP"tt

(D) s"rc<-< cotq& {-{



5. The differentiation in emotion with
increasing ages relates to

(A) maturation

(B) learning

' (C) both maturation and learning

(D) None of the above
i

6. Who has central place in education
, according to child psychology?

(A) The child

(B) The teacher

(C) The guardian

(D) None of them

7. Development starts from

(A) early childhood stage

(B) prenatal stage

(C) the stage of early infancy

(D) None of the above

8. Socialization means

;
(A) modification in social norm

" (B) ways to modemise the society

(C) adaptation to social nonn

(D) None of the above

Mr.{Pl8(2yrtA} (3) lP.r.o.

5. {?F{ TR-s }[q ]if,T &tstFK q1$'

1rrfi-qq $rt W <rr-cq qkef 
I

(A) ffisffi6Es

(B) qsrq-{

(c) qkqx.q .q<q ftqa €vrn<?

(D) 6"tffiK mnfrQ .m

6" ftsl:rFitRryt q-fllm m ftw.H c€r
Er(i{ ((TCq?

(A) Ft'$

(B) fts-$

(c) qfurorqE

(D) ,qms m€q {ir

7. sfr-<r fi$'Ft sw q-{ c{rs I

(A) qqfr-a <rErB$

(B) $T-qr's<

(c) srqfrs ?xm<s<

(D) €"fc<-< rslqR ;rfl

B" )imere}s{q <FrN (<T+T{

(A) rTf\I&-s qlq-C,,f$ :q-(<l' "iR<6q

(B) I{qIG wtffiorctw GplH

(c:) Tlqr&-s q-fq-rk JIclT ct'f'f qtsrrffil

(D) B'Prss conffi Ex



9. K-olilberg has gi'r'en

(.lyi the stages of cognitive development

(|f) the stages of moral development

i'C) the stages of physical development

1.D) None of the above

lfi. ..t;ccrding to Piaget, wl:ich of the
io,iowing is necessary fbr learning?

(A) Observing the behaviour of adults

(ts) Reinfbrcement by teachers and
parent

(Cl) Active exploration of the
environment by learner'

(D) None of the above

11. According to Guilford, 'structure of
:nteilect' consists of

(A) 3 dimensions and 110 fhctors

(B) 4 dimensions and 130 tactors

(C) 3 dimensions and 160 factors

(D) None of the above

12, Thinking is closeli, related to

(A) perception

(B) language

(C) feeling

(D) None of the above

MNP18(2yrlAl (4)

9" Coi.q'c.Ktri jqcrcEar

(A) w-H{-c.rc ft-ozq< sx

(B) U{ft+ ft-+'r'r s<

(c) ?qR$ frerir e<

(D) €"fr< cor;ffiE ax

10" flm'ltqk rsElti-ffi Fi,,lr{ rcFrm ftotm(
wql efcilBTfr{ r

(A) Stg<x-sc-q-< \ilry<q z{eqsq

(B) Fs<F-FIftot 
"ai 

qtn-Tf.{{.< qW

"tfu qref""H

(c) FFflq< qK't af16;""aq q&K

"Is.llllql q.{IqFI

(D) E"r<< c+t-rfrQ ax

11. feFflr'ft6< q-sEIIr< 1&-< xl.raF rm-c,q

(A) irTfa.t q<( >)ofr€"ima.

(B) s qiEf cq(( )\eo ffi $ePia6

(C) s li€f €(( srbo fr fi"fifiq

(D) €qrr< confrq {x

rz. Ssq q66-sr< {-"rffiu wq i

(A) elgqr(cr{

(B) elrl{

(c) q-{-vc<

(D) €"n-r< coiqftQ q-{



33" Intelligence develops more rapidly during

(A) infancy

(B) childhood

(C) adulthood

(D) None of the above

-- , 14. Evaluation means

(A) to study the success and failure of
' students leaming

(B) to know the intelligence of the
students

(C) to know the needs of the students

(D) None of the above

15. Inthe counselling situation, thepersonwho
does the counseling is termed as

(A) counsellee

(B) guidance worker

(C) councellor

(D) None of the above

16. The study ofwhich ofthe foliowing is most
useful.for a prirnary teacher?

(A) Child psychology

' (B) Law

(C) Astronomy

(D) None of the above

xs. ffiK R-ol"r qf&.s evfl&rc qs

(A) ?"r"K wrs

(B) <tErsrs

(c) gts{fls sr3

(D) s,n-<-* m.n& qr

x4.. Irrflxq <q-m ffirsr{

(A) qlq.qrftffiT FteRs{ qt$Er .{<(

<lqfu{ qqrn $-{t

(B) qfe-Wfiffis lfr qtrrt

(c) ql-e-qffoqa EIR?I qFfi

(D) €"n"r* mtq& qr

Is. "lflqxfu{ {RReTo frfr "rufr,4 *
vitro Eqt ET

(A) t4TH*f SQ-".,

(B) Mtm $tr

(C) {$Trfnq

(D) €"n"<s r+.tqffi qs

16. ,q$qr[ Sffi fis,rsf, qq] frcEa 6sE
ftvrsf, \ryrml rFrmcr elr-{lqfrs ?

{A) Fts {rtrffux

(B) q'Rq

(c) ffire{4q

(D) sqc-f,-{ mtqffi qx

e€NPss{?iis[A] { s.} IP.T.CI.



17. Children generally by their peer
group tend to be arrogant"

(A) accepted

(B) rejected

(C) apathetic

(D) None of the above

Carol Gilligan was alan

(A) Russianpsychologist

(B) Africanpsychologist

(C) Italianpsychologist

(D) None of the above

A teacher's most important aim is

(A) to make teaching-learning process

enjoyable

(B) to prepare the question paper

(C) to maintain discipline in the
classroom

(D) None of the above

Individual differences occur because of

(A) heredity

(B) environment

(C) Both heredity and environment

(D) None of the above

q'T{Kq\5 Fte<'td?H \5K qx<x'qJ <-{qrq-{

a]rt 

- 
qr, seH El< €qs qc-q EbK

9<6rsl {lre r

(A) E-f.
(B) g=]1"lTiE

!-(c) sqlq'I{

(D) €"rr<-< mn& ax

$iKE ffiatta fu-d;{ .{$-sl-{

(d) afitr.ta a6;ITRI

(B) qfrF-+l4 w"qRr

(c) eutR-ffi lrrrRq

(D) G"rr<-< CsFffi nR

.qs-q;{ ftsrcK )t{(Er{ e+v{rre'ry gq

(A) fiwq-ficm sfurtm lmrs{f,{ +_6(

NTEI

(B) eH"lq ?gfr re-*t

(c) 6qfr66q fixI{|{sf;q <qt{ KI{l

(D) B"rrr-< cotqffiQ qx

<]"fuam 

"<nI] 
Sr< omq

(A) <rtfl&

(ts) {Rr(r

(C) <$i{& \s 'fRr<{ W
(D) E"fc<-< mnfiQ qr

t7.

18.
18.

19.
19.

20.
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27. The rnultifacror theory of intelligence was
acir ocated b1,'

i-\ t Spearman

rBl Kohler

(C) Guilford

(D) None of them

22. Creativity is

(A) inborn quality

(B) acquired

(C) both inherited and acquired

(D) None of the above

23. Temper tantr"um is usually found in

(A) early childhood

(B) middle childhood

(C) adolescence

(D) None of the above

24. Which one of the followine is most
important for emotional development of
students?

(A) Controlledclassroom

(B) Democraticclassroom

(C) Authoritarianclassroom

(D) None ofthe above

MNPl8(2yrlAl

tt. ffi <e S?nqH EE Esf<-{ s-*-R{

(A) F"mn:ilq

(B) C+]{qIK

(c) firqnrid

(D) Aitq.< CSQ ffi

22. {BT{ftcrst qq

(A) qqlv s6i

(B) qffi
(c) qq?F5 q<( qm €\9-(T?

(D) €"tc-r* csfffi m

23. <qIT-q]Bflq< qlqKqs m?n {tT

(A) qffiE <rElvr<

(B) qt<ifrs {tqlvr{

(c) ?+rrKs"r(E

(D) S"n-s< m'nfrQ q{

24. frCIn mFF q<cu-cTr ssqt{qllq-qfffr?"{
qffiM$ frorm< q;ur

(A) firEv 6qfrsr

(B) {q-qR-s 6qft$s

(c) EYv.{isls [qfrss

(D) E"tr<r< 6$Fffi qr

(7) lP.r"o.



XS. Childhood cotnes

tA) before inf,ancY

(Ei afterpubertY

(C) after adolescence

(m) Iiione of $lea above

?6. A pupil does not show interest in the

studies of the ctrass. The teacher will

{A) try to find out the real factors
resporasible for his disinterest in
studies

(E) send cornPlain to the Parent

(C) give punishntent for his disinterest

in studies

(D) Ncne of the above

2f " Scnne students in elass do not eompletc

ttrreir homeworks regtrlarly. The teacher

wilt

(A) rmako a aomplain to the Prineipal

(Ei) take initiative to discuss the matter

with students' Parents

(fi give strict punislament to those

students

{.ni None of the abcx'e

a{ruP18(2yl["4.] ( I ]

25. 4x4i$'rq s.ltffi

(A) ?"islffi< s4

(B) <-Seffi6 o63

{c} ?"or$rfl* 4rs

(m) S"rers roPffi E-q

26. q-E-ffi q[;g s]rq EqT{ fr.& weR ffiRT-r

qt I qrs-m Ftq-+

{,A} .rem .ffi sm qqtqrqs rys $1<6l

{rw am ${rs ffiBt s{r$[

(B) <t{t-ql-tT-f, $](q 41fu "it'dr(<4

{C) Wfs EmEl sis sq-fiArq< cFll ffi
{q{<E'

{D} €*ftms 6ffi ex

27. srPK kqeq-Wfr fu"$ft'ssrm K-r (q-r$

ffi\€Tt 6,FS1lq (R{a."€$6);{*t"rsffi q'i i

e{sxq Fts-s

(A) f-sfreffffis ppgaffiq qNJK{

(B) ers-fficw< qm-st-ffi< qtrE ffi
kex qfEmEm Bcq1f€$ F.rq{

{c} & qq"s W-s-qfftffi-E $v.l qt&

ffiKd

(D) ffier#!-* ffia@ ET



\oam Chomskl"s theory is primarily
related rvith

(A) social development

(B) physicaldevelopment

(C) emotionaldevelopment

(D) None of the above

29, An effective teacher is one who can

(A) motivate students to learn

@) give more information in less time

(C) control the classroom

(D) None of the above

Dyscalculia is related with

(A) mental retardation

(B) hearing handicap

(C) visual handicap

(D) None of the above

MNP18(2)/rtAl

6{IilN DqkT ugffi T'-r'_v-; :i="?tffiE

(A) )Tfql&-s fr+-fr.lx ,req

(B) ?rRs fit+trqx qG?

(c) ener,frv<, k+rrqx qcE

(D) €"rrs* corqftE qlT

29. q$q-{ TFtq"llq-s ftr+-_ q6q;1ffi, ffi
{rrs{

(A) qlq-qtfio?K c.t?its 'wTi" 'BfrPtrs

$-{re

(B) {rq qTffi eTr"i-s ffi \5q5 fr-6o-

(c) 69fi-a-q6 ftirqq {,-q-r.,

(D) €"fcs< cfiajBQ "nr

{1 {E q|eel 3l=-,fffis 
I

(A) ql{fr-$ q&<Rrrts

(B) ef<{s5s g&<Farsts

(C) ffias efffi{sts

(D) E"rrr< c+rqffiq Ex

(e) I P.T.O.



Directions.' In question Nos. 31 to 33, each
sentence is underlined in three separate parts,

which are marked as (A), (B) and (C). Read

each sentence to find out whether there is an
error in any underlined part. When you find
an error in any one of the underlined pafis (A),
(B) or (C), indicate your response on the
answer sheet at the appropriate space. You rnay

find that there is no effor in a sentence. In that
case, letter (D) will signify a 'No error'
response.

31. The shirt that my father bought

(A) (B)

is different than you No error

-

(c) (D)

(A) A

(B) B

(C) C

(D) D

32. I shall not visit your place

(A) (B)

if it will rain No error

(c) (o)

(A) A

(B) B

(C) C

(D) D

MNP18(2)/rtAI

PART-II : Language-I

ENGI,ISH

-. Ram is senior to me
JJ.----:--:- (A) (B)

in the office No error

(c) (r)
(A) A

(B) B

(C) C

(D) D

Directions.' (Q. Nos. 34 and 35) Complete the
following sentences by adding a tag question
with the correct form of verb and the subject
pronoun:

34. You work in a bank, _
(A) aren't you?

(B) don't you?

(C) didn't you?'

(D) None of the above

35. Peter didn't do his homework last
Monday, _
(A) did he?

(B) does he?

(C) didn't he?

(D) None of the above

35. The trial was held in camera.

Here, 'in camera' means

(A) in public

(B) in private

(C) in studio

(D) None of the above

(10)



Dbections.' Read the passage given below and
ans\f,.er the questions (Q. Nos. 37 to 41) that
follow b-v selecting the coruect option.

The greatest enemy of rnankind, as people

have discovered, is not science, but war.

Science merely reflects the prevailing social

forces. It is found that, when there is

peace, science is constructive; when there

is war, science is perverted to destructive

ends. The weapons *-hich science gives us

do not necessarily cause war; they make

war increasingly terrible. Till now, it has

brought us to the doorstep of doom. Our

main problem, therefore, is not to curb

science, but to stop war-to substitute law

for force, and international governrnent for

anarchy in the relation of one nation with
another. That is a job in which everybody

must participate, including the scientists.

But the bombing of Hiroshima suddenly

woke us up to the fact that we have very

little time. The hour is late and our work

has scarcely begun. Ncw we are face-to-

face with an urgent question-can education

and tolerance, understanding and creative

intelligence nrn fast enough to keep us

abreast with our own mounting eapacity

to destroy? That is the question which we

shall have to answer one way or the other

in this generation. Science must help us

in arriving at the answer, but the rnain

decision lies within ourselves.

MNP18(2)/rlAl { 1l ) I P.r.o.

7,1 According to the writer, the real enemy
of mankind is not science but war,
because

(A) science merely invents the
weapons with which war is fought

(B) the weapons invented by science
do not cause war, though these
make it more destructive

(C) the weapons that science invents
necessarily lead to war

(D) None of the above

War can be stopped if

(A) we replace force and lawlessness
by law and international
government

(B) science is not allowed to lead us to
utter destruction

(C) science is restricted to be utilised
only during war time

(D) None of the above

According to the writer, the main
problem we are faced with is to

(A) stop science frorn reflecting social
forces

(B) stop scientific activities
everywhere

(C) prevent scientists from
participating in destructive
activities

(D) None of the above

38.

39"



4{}" Which one of the f,ollorving statements

is n':rt iurplied in the passage'/

{z\} Pecg';le needlessly blame science

li;l' 
";ar

iE-l: tlcienee is misused tbr destrictive

l11Ii,l.rses

{C) Noither science nor the rveapons it
invents add to the horrors of lvar

(I)) None of the above

4n. The expression 'keep us abreast' in the
passage Yneans

(A) keep at a clistance

(B) keep siele-by-side

(C) hold out a challenge

(D) l.lone of the above

tuirectiows: (Q. Nos . 42 to 46) Fill in the

btranks taking the appropriate alternatives from
the given options in each of the following :

42. He r,vas pale *'____ fear.

(A) of
(R) from

(C) t*
{D) Ncne of the above

43. The District Magistrate has atrthority
the Clqrmmittee.

(A) over

. (B) on

(C) with

(D) None of the above

44" If I knew what he wanted, I this.

(A) rvill not permit

(ts) wor.rld not have permitted

(C) would not permit

(D) None o{"tire above

iv{NPls(z}/UA}

45. The synonym of 'ecstasy' is

(A) calamity

(B) delight

(C) doldrums

(D) None of the above

46. The antonym of 'facile' is

(A) profound

(B) quick

(C) frail

(D) None of the above '

Directions.' Read the poem given below and

answer the questions (Q. Nos. 47 to 51) that
follow by.selecting the correct option.

I wonder why the grass is green,

And why the wind is never seen?

Who taught the birds tp build a nest,

And told the trees to take a rest?

O, when the Moon is not quite round
Where can the missing bit be found?

Who lights the stars when they blow out,. .
And makes the lightning flash about?

Who paints the rainbow in the sky,
And hangs the fluS clouds so high?
Why is it now, do you suppose,

That Dad won't tell me, if he knows?

47. The poet is most likely to be

(A) a scientist

(B) a hermit

(C) a teacher

(D) None of the above

(12 !



48. 0... when they blow out'

Here 'blow out' means

(A) to ntove

(B) to hit

(C) to whistle

(D) I'Ione of the above

49. The word 'fluft'means

(A) condense

(B) dark

(C) fleecy

(D) None of the above

50. What is the emotion that the poem
display?

(A) Anxiety

(B) Curiosity

(C) Devotion

(D) None of the above

51. '... if he knows?'

. Here 'he' ref,ers to

(A) the father

(ts) the poet

(C) the reader

(D) None of the above

wsNPlS(?y{[A]

Direetions r (Q. Nos. 52 to 54) Fill in the

trlanks taking the appropriate alternatives fr$!-{i

the given cptions in *ach of the follorvlng :

5?. My mother is .___ honest w0r11afi.

(A) a

(ts) an

{C) the

(D) None of the above

53. i could not *-_* what he wanted to sa.l,.

{A) nnake up

(B) rnak* in

(C) make out

(D) None of the above

54, There ___ a pair of shoes lyi.ng on th*
floor.

(A) are

(B) were

{C) is

(D) .i\one a{'th* above

{x3} IP.?.e"



Directions.' (Q. Nos. 55 to 60) Answer the
following questions by selecting the coruect
option.

55. A word gets its meaning

(A) from dictionary only

(B) in relation to its context

(C) from its origin

(D) None of the above

56. Which of the following is not a language
component?

(A) Sound

(B) Symbol

(C) Vocabulary

(D) None of the above

57. A speech community ret-ers to a
community which

(A) uses different languages

(B) speaks different dialects

(C) connects by virtue of a link
language

(D) None of the above

MNP18(2yrlAI

58. Functional gftrmmar refers to

(A) learning grammar by knowing the
technicalities of language

(B) learning grammar through the rules
of language

(C) learning grammar in isolation

(D) None of the above

59, A mixed ability group is heterogeneous
in

(A) knowledge and skili

(B) economic status

(C) gender and age

(D) None of the above

60. IPA stands for

(A) Indian Phonetic Alphabet

(B) International PhoneticAlphabet

(C) Indian Phonetic Association

(D) None of the above
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61.

frtffirq't,ffim "mrflFf vrfl rem "iry
61 ;r( cclrs 66 r'( ercr< Bs< +-+es qr.< 

t

"qgfrHf, <g ;r-ffi q-{ <FkE rs r

<<FIF '"r< m q-{ia w <Rq mr
or+*-q'ta--{ *qa nfr
6-,qErd6 fr"{q qR

9l4-F{-4l({ sqt V-6{fC{ alat-q vkq 6s r

wfurc q.ess -z--d"*r&< qfi cqft c{ E-q,

FFr flRrq sR fr qmm q.iR rrR
fr*{q 7

q$q-"ffcir6( Ejsrq-{ Ei6t

e{fr <nTft Etsrtcq ernr

"lFRtq $lrf, T{ fl?f(T< Eq(qKcl E{ ?"

qQ q(r"i fifoq' *rqf;K {RRrw" $-f,[E
qr<

(A) fi-t * Ge
(B) fr+foe
(c) fr: + fiq
(D) E"t-cs-< mfqm rr
eQ qic*t q-ffi-{' -lqfiK R"ffis qqlm
(A) E"ffif[

(B) q615.13

(C) "f]s1-566
(D) €"fr<-< con& m
eQ qir{ '1q''ei6;' qq-E qE

(A) R-c.Fq qE

(B) frrtxl "tq
(c) qf,qtq em

(D) €{r<-< ronffi? qr

64. sE q(rt ?gxqlqq' qqE qE

(A) {sfi,Q q:iftffi Bqlq{q

(B) 6q qxtfi-{ €fiqrq

(c) +{$T{ q{rffi< €qr{{q

(D) O"trE< con& q{

65. gE qq(.t 'sql' qqE< "mg{ qf<

rA) EfiT

iB) sq'fc1

ic) sqml

iCI) E'n-s< c+rqfrq qr

6G. "\$frr+s <E m q-q qfrq 66r"

firu m ffiE$ "mE cot1 oK+r
, A) st'<tr<-s

rB) s-{*Ff<s

,.C) qqf(1;r s'Ks

, D) S"nr< c+n& qT

ffi,i;it' ffiFM mefra qtro ffi
ffia s-(T 67 T( cqm 90 4( Em< B€-{ crcs
{6q i

67. ';Ft-sils<s' fl<lF< <}fr-st qrffl

rA) lTq3qq {Rs
{B) rI(gl$-{'tef qE'

{c) sfr-q-+lq f,t<
,D) q"rq-< m& q-q

s'ttt-IU : vfqf-11

qtffit

MNPl8(2yrtAl (ls) lP.T.O.



69.

sfr sl&fr {rffiK vr<tffi w
(A) 

"q<,.t'

(B) Et$W'

(c) 'qlau s Rffq:J'

(D) S"trsx ffiEm qH

tH6qF"ta' ol<yffi$ Et&-sr qrEq

(A) ntffi rtx

(B) TTry-{s9q qfrs

(c) {q-?F6i EqeH

(D) q"lqs 6@;q-q

"f,{lcq-B r'[:ffi ffirffi*s q.|"il qtqR <tBEl

eltrlt,,

qq flrar{ 4q&-ft{ <bfr-st q:..rq

(A) qYqel-{lq ffi-4

(B) rft-qilqr 5rfls

(c) &rq-qqlq ilr
(D) drq< mW E;{

qrq-< {lTsK qrc'r4'

(A) $frq1q KIr

(B) qEqer4lq riH

(c) {.sqK Klr

(D) e"rqr f,sW {-4

,t.

kxNF18{2yrtA} {16}

,i3.

$fr mtfuEIE rWqH ?&q ffi'q6E
qlt[t fficE{
(A) $R TWKe?e qfr-$rs

G) oR qcsi-q-d'tq q-Ero

(c) Efr mqm <wm

(D) e"m.3 slE(st Ex

*ffiq1 
cercffi <lft wfi xqrq EDE {<,

ftw qlr"K rfu {'t es(E Tg <llry 6s11

6qg;qr"
qq&efr firqkw

(A) otfrft ntx

(B) T-stsBffi
(c) {qr6r Ew-o.|q

(D) aiftx C$@;q-a

6c{tr{m<{sf{l < <evcq ,ffiqm

(d) qFqd

(B) rfr qd

(c) ,u F qd

1o1 E"f+-< mn& qx

'efifrdl qrc' qqF{ KEfr\gt eFF{

(,{) fi-qt qWnK

(B) {sl-svW
(c) s.tfu flr
(D) dffis m@ 4{



76. 'frrltq cqt Es"l q.E .... qKK [ElTtnl-d{

E I,,

e? {tffi KGs qrre

(A) aft-q-q'trE<'({rst' Sqrynq

(B) q{W-ra<'gqcgq;fr' {Fr$

(c) {wr-q tr-+trr{ ffi'afts;n
(D) G"fcs-< cotffi cs

'qrqlqfr's-mB< KFfrul qm{

(A) :v.ffi 6oq1

(B) ffifiq <tr

(c) <-Sq'.c$ar <ttft

(D) q"rq-* m-W qq

{TTK Krm{ rrt-sF qq

(A) 'a;q'pfi'

(B) Te-{r$'

(c) 'qE6 q-Eell-{'

(D) E"frr< c+nfr qx

'fic,s{ {yE'ffi{ .<ufr-ot ErE{

(A) rfr-q"l.tct tr{K

(B) mqr{ ilr
(c) q-{ftqnlq }m<

(D) ftqi 5aQ r+

17.

79.

MNP18(2yrtAI (17 ) lP.r.o.

81.

'fr.f qfr"' $qE ftotcw

(A) qcsrqalcl EE.

(B) vfiqmnn {tefi

(c) T:Triq{ rB-"s

(D) .q"rq-< coQ q-q

'RrEIq'E"rflqB Frqre{

(A) q-{fr-q-{cr trcK

(B) frqt qqmm

(c) {ftqil{ }mT

(D) q"rn-{ 6sQ ffi

qFF<q q|iE'I qm.rcqF ,Fs <lqtbffiq
sl-{Ill3 fr,{frf}u .fqefr"{ )q-C&6 q}q

qql{E EE

(A) ffiRfi{

(B) qqftr

(c) q+fir

(D) E"rr<-< 6qffi a<

ffi>Rh&qq
(A) q-<qqG< Bqr<q

(B) qftfrRe< EqTq"l

(C) q-{-\rft< €q|{{q

(D) E"tr<< mtqR qx



84. 'KR'{E 6Sr6il sr{l{

(A) TEEI G4qr{

(B) 1"ry{ SeXqrx

(C) 1tt-E"ffWt

1r>) €"rm.n ronFE q'{

85. ffi r1:rg "iq frfE qrffn offi\o qX ulCq-T

et-e-rrofficq, <H

(A) q{s"fh

(B) q:{-ry!.H 4q

(C) B-sK"lE

(D) €"trs< 6Y4ffi ax

86. S\rt$ft'< <qat <rqqf{ xmeq,

(A) <qffi 6{st{]r

(B) fiqmff €"n$qlil

(C) $l9ot61 G"re-ms

(D) .q**ft-T c+pffir* a;r

BT. '6r(sF{ 6;s'---.qQ EtNffis qqf qe

(A) 6aF{r"r o{ 6.rs qrgs

(B) oterc< fref

(c) "pg1a{ er"li,ft eq]reET E,'fu

(u) E"rr<-< r+-mffiE qir

MNPl8(2)/ttAI ( 18 )

BB. 'T{q ql6{ qH (ftq:ll5 t"

firu ntet cqs{T "rqfr rsn s'Ks ?

(A) SK6r$T{S

(B) s-ft<s

(c) qiq-$<6t $i3r-s

(D) €"rr<-< ronfiE qx

8e. {lYslTK s& wqffi( \rtsfr +(< gq65
:r<ft-s esvl{Yfu qr,tn srs

(A) 4btg+

(B) fis-s

(c) q$qK fi6n S"tmn

(D) €"lr.f,< conffi qa

eo. qttgKfusq s <tEqsft< wF-fo:& q{t

"fry

(A) f,r.fi 4c-{ qRlr{i

(B) qrtfiE "lk 
-{ q'lEkHI

(c) u*d"lt "ilrtl (critical study) qlqlmi

(D) GezK-< c+tqftrsQ qx



Directlons.' Answer the following questions by

selecting lhe correct oPtion.

91. If each side of a square is increased by

10ol0, then the percentage increase in its

94,

area is

(A) 20%

(B) |s%

(c) 2t%

(D) None of these

The suur of two numbers is 216 and their
HCF is 27. The numbers are

(A) 27,189

(B) 80, 136

(c) 154, 162

(D) None of these

The average of four consecutive even

numbers is27. The largest of these even

numbers is

(A) 36

(B) 30

(c) 32

(D) None of these J

If the cost price of 12 articles is equal to
selling price of 9 articles, then the gain

percent is

(A) 30o/o

(B) 4Ao/o

(c) 3s%

(D) None of these

MNP18(2)/IIAI (le) I P.r.o.

PART-IV / VI'[-IV

MATHEMATICS / dlqg

ffi ' 46o 6sffr .<6-{ 
s63. fr'< eF$sFK

Eqs qN t

e1. {fr mffl <I(F5qR dfvm {<< ?EEf

10% Ifr 'm, EK ot< cweFn-e 1frK
TS5II EFT EK

(A) 20%

(B) ts%

(c) 2t%

(D) *.q5 6s.ffi +*

fBq$Ir 6{ttlrFE 216 q<( qlm rt.{t.s

27 {6{, q$ll',t $ qK

(A) 27,189

(B) 80, 136

(c) 154, 162

(D) *.q-< cs'FrfrQ m
EFrF qrfr'$ Tq qH}Rr iW 27 ErE, qIq-<t

Iry{ q$t'tF q'6<

(A) 36

(B) 30

(c) 32

(D) .qlqr coFrfrR r{
{fr t2F qGU< @T{q} eF qrffil

frGrTWar< )Trl'F q-q, Er< xlgoil qlv

(A) 30%

(B) 40o/o

(c) 3s%

(D) q1nT csHffim



95. If x men working x hours a day for x
days produce r articles, then the number
of articles produced by y men working y
hours a day for y days is

x'(A) --
v-

x'(B) 
3

v

(D) None of these

96. If one side of a rectangular field is
18 meter long and one of its diagonals is
30 meter, then the area of the field in
square meter is

(A) 432

(B) 388

(c) 380

(D) None of these

e7. (0.333...)x(0.444...) : ?

(A) 0.t2r2r2...

(B) 0. 148 148148...

(c) 1.333....

(D) None of these

MNP18(2)/rlAI

(c) 4x-

9s. qfr , w[ cqFF frcq , qfif s'fq s-c3

, frcq , E q-<I ?ofr o-<-cs "t[6{, uK },

wr rErc frrq y ESt +Tq E-63 y fr6q
?uft nrt Ecrrir {$Bl qE

x'
(B) 

3

v

3

(c) +x-

(D) efi-< c$FTmQ I{
e6. <fr esB qTorc-K T[5-{ qsF <rq< ?rEf

18 FEK .q<( .!sE s(ft ?qqf :o fiA<
qr, sr< TlbE< 6Fq,rE <ffibfc< <<

(A) 432

(B) 388

(c) 380

(D) q(k3 mEfrQ c{

s7. (0.333...)x1 0.444...) : ?

(A) A)2r2r2...

(B) 0.148148148...

(c) 1.333....

(D) ,qrq-{ ($FTFQ I]l

x'(A) ,
'1.,

(20)



99. If { = I, then (x + 5) : (y +' 81 is equal
(a
JO

1^1
98. If x+ 1=2. then the value of x-- tsxx

(A) 2

(B) 0

(c) 1

(D) None of these

to

(A) 8:5

(B) 5:8

(C) 3:5

(D) None of these

100. If "'ln5- 35, then the value of

"frB-.fu.tzx i'
(A) 3

(B) 3.85

(c) 3.1s

(D) None of these

Ltil". trn the given figure, ABCD is a rectangle.
The value of r is

1ti2- 3x

2x"
A

(A) 54o

(B) 36"

(c) 24o

(D) None of these

MNPlS(2)/IIAI

fr

98. qfr x*1=2 qs,w6{ r-1 *uq"H{64.rx
(A) 2

(B) 0

(c) 1

(D) o.* 64ffi m
xv99. {Iq t=; Q.{;E[<(x+5):(y+8)qc<

(A) 8:5

(B) 5:8

(C) 3:5

(D) effi-{ mFfrq qr

too. {fr .,h225 =35 q-{, s(=<

$L2s-ja.1T25 ..{K qE qK

(A) 3

(B) 3.8s

(c) 3.1s

(D) qrq-{ c$ldffiq 4r

101. aqE Frq, ABCD qSfr qEEffiq 
I

r-4K TF{ {fl

I 62- 3r

Lx"
/

(A) 54"

(B) 36

(c) 24"

(D) qm3r {"+l'llijq *{}l

D

D
L.)

(21 ) ! a'T' {}
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102. For a rhombus, number of axes of
symmetry is

(A) 4

(B) 2

(c) 6

(D) None of these

103. If in a regular polygon, interior angle is
8 times of its exterior angles, then its
number of sides will be

(A) l8

(B) t6

(c) 20

(D) None of these

104" If P is the perimeter and S is the sum of
diagonals of a quadrilateral, then

(A) P: s

(B) P<S

(c) P>,s

(D) None of these

105. If the sum of all edges of a cube is
48 cm, then its volume (in cubic
centimeter) is

(A) 216

(B) 62

(c) r2s

(D) None of these

Mr{P18(2yrlAI

i02. Tqm{ ffi[q s&qtql wffi-{ qqqil aa

(A) 4

(B)2

(c) 6

(D) qrq-< csF{EQ {s

r03. dt q$E $r <-qgrq s{-wq c$'t(q< {Fr
<RgE cslcfir qBeq q-T, \rF q< <]q-

x"lll q({

(A) 18

(B) l6

(c) 20

(D) qfi-{ mFrEq 4{

ro4. {fr qsF uV{rem qRfiTt p q<(

${qG-{ c{trrcFr s'q{, s6(

(A) P: S

(B) P<^S

(c) P >,s

(D) qm< 6sIaR rTr

ros. qfr .{TF r;r-rfiT {f{erqm q{E +s c{fi
q1, Ef,{ .qK qmE4 (q{ mRre) qc{

(A) 2t6

(B) 62

(c) r2s

(D) erq{ mF{frQ {{

(22)



106. The two parts of 34 such that ],f, of
7

one parl is equal to ltU,of the other are
5

(A) 16, 18

(B) 15,20

(c) 15, 19

(D) None of these

107. Given x is 5oh of y, y is 24Yo of z. lf
x:480, then the values of Y and z ate

respectively

(A) 9600, 40000

(B) 9500, 40000

(c) 9600, 50000

(D) None of these

108. 12 buckets of water fill a tank when the

capacity of each bucket is 13.5 litres.

How many buckets will be needed to fill
the same tank, if the capacity of each

bucket is 9 litres?

(A) 16

(B) 8

(c) 18

(D) None of these

MNP18(2yIIAl (23) I P.T.O.

106. 34-q< EE siri-,!< qsB{

2q{{Fk ; q(rr{ qrH qr{ eltisrql

{F
(A) 16, 18

(B) 15, 20

(c) 15, 19

(D) qm-{ coFfrQ qTI

107. CqsTI qICR x Qf, y q< 5%, y {Q z-€K

24%l qfr ,:480 qn, Vf,{ y ((( z-€K

qf{ 1qilE C]

(A) 9600, 40000

(B) 9500, 40000

(c) 9600, s00oo

(D) em-{ c+.FfrQ qr

ro8. esF RIrc vG +-Ecs 12 <rdB qE

Efcri, R"ll6{ sr\9fr <HG< {t<"lr:l-sl

I3.s frtr< r eE e$e tni+ vG +-Ers q

Ffi< ffiq-qq-stRFtB $sefr EHe
efG'fq;t ?

(A) 16

(B) 8

(c) 18

(D) €(qK mFfrQ 4',{

A

7



109. Simplified value of the product

(^ r\r^ 1l[r_t)..[r_22)t z-- ll l--( 3l\, s /\, 
- 

7 /' '(- rool J

is

9q1(A)
1001

1003(B) ^-{

1001(c) -*
1J

(D) None of these

110" The LCM of 3,2.7 and 0.09 is

(A) 27

(B) 2.7

(c) 0.07

(D) Nome of these

X11. 'Mhich of, tXre following is true?

lt E 7 5(A) G"it.r).7
5 9 ll 7

\ / 7 11 13 g

5 7 9 11(c) ; <;7 e il i3

(D) None of these

ll2. If a reservoir is in the f,orm of a cube
whose voiume is 9261000 m3, then the
length ol its side is

(A) 230 m

(B) 210 rn

(C) 250 rn

(D) None of these

MNP18(2yrtAI (24)

l'e [,-+)[,-i)[,-;) (,ffij
q6fTTE-{ q-{-fiTs fl4' qr<

991(A) 
rool

1003
(B)

1001(c) 
i3

(D) e&** cslqfrq 4r
110. 3,2.7 ,q<( 0.09-q< E.q1"e {q

(A) 27

(B) 2.7

(c) 0.a7

(D) qrq-< c$TqmQ E-s

r11. ffifimqlft< mrqffi ersra

11 I 7 5,lA) -<__<-<-t3 ii I 7

5 9 1l 7

7 lL t3 9

(c) 1 .1. 1.11
7Iil13

(D) qmr c+tqFQ ry{

ttz. {fr q$E q{FB q-fl{rrfir wrcq
9261000 E4fiFri qn, EC( ,qK <IK eqEr

{F
(A) 230 GtDir

(B) 210 mK
{c) 2so FEK
(D) e&.< mFfre E-{



113. .A.4 cm cube is cut into 1 cm cubes. The

total surface area of all the small cubes

is

(A) 384 cm2

(B) 24 cm2

(C) 96 cm2

(D) None of these

114. The angle between the minute hand and

the hour hand of a clock when the time
is 8:30 is

(A) 75"

(B) 80o

(c) 60o

(D) None of these

115. The result of the education directly
develops which of the fiollowing
resources?

(A) Agricultureresources

(B) Technologyresources

(C) Human resources

(D) None of these

116. Who said that, "Mathematics is the

science which draws necessary

conclusions"?

(A) Hogben

(B) Benjamin Peirce

(C) Locke

(D) None of them

u3. qsF 4 6ryF <tqRFrE gFF-m 6ofi
1 cqfr <tqRfiE frqn-++?sft nrt qqi
qqg eF T{Cr$< 4qq\rm3t CSA'Sa1q6q

(A) 3s4 <rr cqfr

(B) 24 <d ffifr

(c) e6 <d cqfr

(D) erqr csF{frQ ffi

ttl. q&N ry1-4 8'30 <frq' s{{ Et{ Etr{
EFt e<( frfrrt< strK r$-{q ffiq q-{

(A) 75"

(B) 8oo

(c) 60o

(D) erq-< c$Fffi q"'{

115. fisl< +rq rrfiqR R-sm qct cq {.{m<
mE qq

(A) TRq-'lT

(B) E{eT-{q

(c) {Fr<iTF4q

(D) qffiK mFfrQ qr

116. 6S <IEEE, "1fi8i EE g(Tlq.fu frmrg
€"ffu 4 ;s frw;4"?

(A) qtr6$r

(B) c<q'tfr+ lM
(c) Efr

(D) €"rq< coQ;rq

MNP18(2yrlAl (2s) lP.r.o.



117. If mental age of Deepak is 15 years and
chronological age is 12 years, what will
be the intelligence quotient Ga) of
Deepak?

(A) t2s

(B) 80

(c) 100

(D) None of these

118. *Mathematics helps to develop qualities
of cleanliness, punctualit5 honesty, selt
confidence, etc." This statement is
related to which type of mathematical
values?

(A) Social values

(B) Cultural values

(C) Moral values

(D) None of these

119. Mathematics Day is celebrated on the
birthday of

(A) Aryabhatta

(B) Ramanujan

(C) Brahmagupta

(D) None of them

120. The Pioneer of cognitive constructivism
is

(A) Piaget

(B) \rlgotskY

(C) Kilpatrick

(D) None of them

MNP18(2yrtAl

tti. {fr fr"m{ ffifr$ <}m ls rK q<(

ETs mq 12 <w q-{, ETE sl3 3WS
(IQ) qK

(A) r2s

(B) 80

(c) 100

(D) qm:( csFimQ rr
118. "d:qti "fRSK-4Rq{-q, fr{TlT(ffiut,

{E\ot, \flERtlq ffi s{Kfr r6rq

{fQ{I s-K r" .{q €&F rtfiTET 6ot1.

IrEJT qcq q.9fftge

(A) qm&<i ml
(B) ar<T&o qro

(c) ?nfu 1ol

(D) emr mFftQ r{
1r9. rffalg fr<q "flFt;l s-{t E-{ s'K qqfrrq r

(A) \flSs5

(B) rNlw{

(c) (qc}g

(D) q'rm 6$fr ffi

120. ABU61-$ ffi&qm{ eF1g't Em{

(A) PHrrai

(B) w{FR
(c) fit-q(tffis

(D) q"mr coEQ q-q

(26)



PART-V / strl-v

ENVIRONMENTAL

D ire ctions .' Answer the following questions by

selecting the correct oqtion.

121. COD will determine the quality of

(A) water

(B) soil

(C) air

(D) None of these

122. What is troposphere?

(A) Middle layer of atmosPhere

(B) Portion of water

(C) Lowest layer of atmosphere where

we survive

(D) None of these

123. Suspended particulate matter (SPM) less

than 10 micron causes

(A) asthma

(B) bronchitis

(C) lungs cancer

(D) All of these

124. Cloud, rain, storm can be found in the

(A) troposphere

(B) stratosPhere

(C) mesosphere

(D) None of these

MNPl8(2yrlAI

STUDTES TqR+IR(II

ffiqt: qtr fur fi-<6q sct frcur

4$efr( W-< ql\s 
r

121. COD qil qctrls rH fr.fr srt E{

122.

(A) qrtrr

(B) rrF<

(c) (l{a
(D) qm.< mF@ {s

Ec'nfu-TK frr
(A) rl$srEK n{Kq v(
(B) qrffi qst

(c) ql{rsGm qfr{ sK c$tl-6{ qll{-dl

GK5 qR

(D) qm{ GoFrfrq T{

ro qR+T{d oH 6qF slrlrFl 1fr+'nA
s'El-[6t

(A) qf"ffi 6{trt qS

(B) <cRfu qr

(C) TTt-c{ sflrfiit q{

(D) qrm r{sE

124. C{q, 18, <ts ffi"trE etts$ {r{
(A) Er"rrfu-Tm-q

(B) $nttfu-{t*-q
(c) CTrflfu-rK-.q

(D) qIqT 6Effi;tx

(27 ) lP.T.O.



125. The Earth Day is observed on

(A) April22

(B) March 2l

(C) Ill{lay 22

(D) June 5

126. What is extinct species?

(A) Species which have not been found
anywhere in the world for the last
50 years

(B) Species which have high likelihood
to become endangered in near
future

(C) Both (A) and (B)

(D) None of these

127. The first National Park of India is

(A) Jim Corbett National Park

(B) Bandipur National Park

(C) Gir National Park

(D) None of these

tzs. <$<1 fr-<q (qlef N) etl-{-{ <r{t q{

(A) 226{ qfrE

(B) 2lc"t {f6

(c) 22C.t fl

(D) 5t E{

126. fiEe erq.t& $'fm {5q ?

(A) C{ qrs qsflfuT frets so <qm

{am< csteils cqqrs 'itsxl qlTR

(B) c{qqg qsfl&Kv6 vRrurofr{n
eMt&rs qRqs q<K:l-sF-{t cmq

(c) (A) € (B) €s{Q

(D) qrqK mlffi m

127. slrc-<d{ EcN qlq{ &]t{,8 qE

(A) &r +<rfr vtqr €qffi

(B) qfit qlqr €qfl{

(c) ft( qtfis SrH

(D) q(r{ mFrfrq;H

MNP18(2)/ItAl (28)



12S. The book, Origin of Species was written
by

(A) Ralptrt Ernerson

(B) E. P. Odum

(C) S. P. Godrej

(D) Sir Charles Darwin

129. In Indian Constitution, which are the two
Articles for the Protection of
environment?

(,{) ,A,rticles 4lA and 50 G

(B) Articles 48A and 51,a. G)

(C) .A.rticles 24A and a3A (g)

(D) None of these

130" An example of, benthos is

(A) {lsh

(B) zooplankton

{(:} snail

(D) I{one of these

131. Wkaat is UNCED?

{A) United }.{ations Conference on
Education

(E) United ldations Conf,erence 0n

Environrnental Day

(C) United Nations Conferenoe on

Environmont and DeveloPment

(D) None of these

lzg. ffie4 qT Fqfiq'ar'{Bs ffiq$ Erq{

(A) nflw qqKq-{

(B) e. iA' €sN

(c) qq, tq. cqq"Grq

(D) Jfl< Effi I5KWI

12e. sKE-{r{{ qqRsrcK 6s1{ {F EFrrN

ER13xt q(gry(61-{ Seff {Et {Cildqr

(A) {rfl 41,A qqq 5o G

(ts) {ls[ 48A q<( slA (s)

(C) {rfl 24A €fi a3A (g)

(D) qxE< 6oF@ q{

130. ffi-{emffi qsF SqIE-,s.t'ry

(A) Trq

(B) q-ffi{
(c) "llT{

(D) erq-s fs'Frmq EH

I3T. IJNCED fr ?

(A) United Nations Conference on

Education

(B) United Nations Conference 0n
Environrnental Day

(C) United Nations Conference on

Environment and DoveloPment

{D) qffiK rstr& qx

MFIPl8(2)/UAI (2e) I P.T.o.



132. Which of the following causes

biomagnification?

(A) Sulphur dioxide

(B) Mercury

(c) DDr

(D) Both (B) and (C)

133. Where the first, second and third Earth
Summits took place in 1992,2002 and
2012 respectively?

(A) Johannesburg, Doha, Rio de

Janeiro

(B) Rio de Janeiro, Johannesburg,
Doha

(C) Rio de Janeiro, Kyoto,
Johannesburg

(D) Rio de Janeiro, Johannesburg, Rio
de Janeiro

134. The biotic component of biosphere is not
constituted by

(A) producer

(B) consumer

(C) decomposer

(D) air

135. Carbohydrate, stored in human body, is

(A) glycogen

(B) glucose

(C) starch

(D) sucrose

MNP18(2yrlAl (30)

132. ffiRs 6st{F tqR"s R<{q x$txr

(A) {fEffir v"R q-sRs

(B) {rd_srR

(c) DDr

(D) (B) s (q €gKt

r33. Eet{ 0ss2), frqr Q002) s Yfi{
(20r2)<$-st {rcrE{ q-{6s q-{ {$@r{

(A) &?rar{)Ktd Cnr{, Rs & cq-6nf,1

(B) Re & cq-6[Kt, 6qR1r{q-{rd, 641qt

(c) Rs & 6qrn-rst,fr,rTr6t, 6qfql6-{<Ff

(D) Re & cq-fl(trt, curffid frs
fu cqrq'cn

t3a. frqas6as ?sr< €"flffi

(A) SqePE qffi ri0E d-{

(B) qlrT-s EKt utCIs qx

(c) Rrflsrs qlrt rtffiE ar

(D) <l{qKI atCIs q{

13s. {Fr<mR qRs .|6rRs {EI q-q

(A) flRroffi{

(B) e!flsr

(c) 'il6
(D) {rs.rq



136. Energy fi'om the food is measured in unit
of

(A) calorie

(B) watt

(C) degree

(D) None of these

137. Which of the following is a microuutrient
for plants?

(A) Phosphorus

(B) Potassium

(C) Nitrogen

(D) Boron

138. The vegetation of Sunderban is of

(A) monsoon type

(B) tropical evergreen tYPe

(C) mangrove type

(D) None of these

139. Which of the following steps is not

involved in the carbon cYcle'7

(A) Photosynthesis

(B) Transpiration

(C) Respiration

(D) Burning of tbssil fuel

MNP18(2yIIAl

136. qq'i (cim dtq "r& $"fi q-{ [{ ,q-<rs

K'F'I E'f qE

(A) $rfff,tR

(I]) s{F

(c) lcft

(D) ..{mK cof{fr q'{

rz. ffifirc 6<'nF €fum< xRrm-
agfr6op1-qEt

(A) W1-s-ff{

(B) 4fifiil{

(c) rRtsrq{

(D) C{ra{

13S. {q-ffic{'{ s&q qE

(A) cW q-fe<

(B) ffi Sq"q6q e*63

(c) {flq($s rce.3

(D) err--{ m'Efrq m

rrs. ffi{Frc cfi "RfrFsr{qD-rs<qsf*-
1"{ ?

(A) {rc{FFq(-m{

(B) <Iorrc$5;[

(c) 1-{{

(D) sfr-{F{Emffi qq{

(31 ) IP.r.O.



140. Chtrorofluorocarbons have been in use for

(A) the forrnatiom of, aerosol spray

(B) the formation of foam

(C) the refrigerators

(D) All of these

" ' l4l" Nitrosomonas bacteria change

(A) anrmonia to nitrate

(B) amnnonia to nitrite

(C) nitrite to nitrate

(D) None of these

142. Top soil contains

{A) humus and living organisrns only

(B) hurnus and soil particles only

(C) hurnus, living organisms and plants

(D) humus, living organisms and soil
particles

143. In desert plants, rate of, waterloss gets
reduced due to the preserece of

(A) cuticlo

(B) stomata

(C) lignin

(D) None of these

MATPXS(z)/EIAI {:$2 }

140. mr(Kmrsrcffi ryi{qre w
(A) ,{rs'FTqm?sft$-ss5

(B) mq ?sfr slrcs

(C) ffifrq'ffi?K*q

(D) .qm-K sr<-$m

14x. {Rffitmkqnlq qfis#fu

(A) qitGrtR$n"sEkffiB-q qffi sLK

(E) qrnmfiBft-s q&S&t-,s qffiq
s't-E

(c) qRBEFLm Etqcffi< "fffi sr<

(D) qrqs ffiFrmq 4H

t42. ft{Tlt-+ln xwr ams

(A) s{srq ry qqq fi'{
(B) sfllrq RSqm ,{{( T&st s"tt

(c) ft$arot, fi< ea( €eq

(D) ft&xfi, 6q qqq q&w wel

r43. qry-frK Berq, Erq'gm q\g{lB es +m

(A) fr"€es-q*qn €*f&&K qql

(B) ffiF €"f&ts{ qE}

(c) fr?tfr{-ex Bq&fu< qqr

(D) qrqs rsm 4{



144. ln India, the Water (Prevention and

Control Pollution) Act came into force
in the year

(A) 1e72

(B) 1e77

(c) Le74

(D) 1e81

145. Which one of the following is not a viral
disease?

(A) Dengue

(B) ArDS

(C) Iyphoid

(D) Influenza

146. The commonest antimalarial drug is

obtained from

(A) roots of Cinchona tree

(B) bark of Cinchona tree

(C) leaf of Cinchona tree

(D) None of these

147. The fish that lives in marine water is

(A) Catla

(B) Rohu

(C) Mrigal

(D) Sardine

144. vl<\o-<({q-q({6t fiffiq qR{ qqr{ srt
qT

(A) le72 qfin

(B) 1e77 qrffi

(c) 1e74 qlFr

(D) 1e81 qlrq 
.

14s. ffiRE cst{. cilurB vffi as7

(A) 65R

(B) AIDS

(c) BE+irg

(D) ?Wmqt

146. rFtrETrr qEGrv $r(qR-qt qfuffi{s €'{*
ell\s3t ffi

(A) FmFmr {mW {E (qRF

(B) Frsmr allK <FF-E cqrrs

(c) frc6l{r {rm 'tlst ccks

(D) qfiK coFrfrR q-{

147. E-{6ils q6q q{<Iqffi TIq. qq

(A) slwil

(B) +t

(c) I'cflEI

(D) qlffi{
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148. The famous environmental lawyer of,
India is

(A) Medha Patkar

(ts) M. C. Mehta

(C) Anil Agarwal

(D) None of them

149" Food web is made up of

(A) food chain

(B) consumers

(C) food pyramid

(D) None of these

150. Example of an artificial ecosystem is

(A) ecosystem of a pond

(B) ecosystem of a forest

(C) ecosystem of a grassland

(D) ecosystem of an agricultural land

MNPl8(2)/rlAl (s4)

148.

149.

vK\rErf{ q$q-{ frqllv qffi
tr{iQTgfrfr ECE-{

(A) 6{{t 'fi#sK

(B) .q{. fr. G[R-st

{c) qfrE'ql?r{sTl{

(D) q"rR< row q-q

?ttryq'H ?sfft qn

(A) {mJ wm frm

(B) <ifqE frH

(c) cfl J f;ffis frtT

(D) erq.-{ mER {-{

lso. .{sE Tfr{ <1w-@< €qr$q EE

(A) &ri< <rw-sE

(B) qq-ffi;T Trgsq

(c) Y$Pfr{ <NEq

(D) TReTF( <N-e-q
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